VCE & PDF https://www.passapply.com/830-01.html
2024 Latest passapply 830-01 PDF and VCE dumps Download

PassApply.com

830-0195%As

RCPE Certified Professional WAN Optimization

Pass Riverbed 830-01 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.passapply.com/830-01.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Riverbed
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 830-01 Dumps | 830-01 Study Guide | 830-01 Exam Questions 1/4


https://www.passapply.com/830-01.html
https://www.passapply.com/830-01.html
https://www.passapply.com/830-01.html

VCE & PDF https://lwww.passapply.com/830-01.html
2024 Latest passapply 830-01 PDF and VCE dumps Download
PassApply.com

QUESTION 1

You are using TCPdumps on the server-side SteelHead to troubleshoot an application connectivity issue.
The following filter is used on the TCPdump:

(host and host ) or (host and host ) or (proto gre

and ((ip[40:4] =

and

ip[44:4] =) or (ip[40:4] = and ip[44:4] =)) or (port 7850)

What part of the filter captures the traffic which the Interceptor has applied NAT to?
A. (ip[40:4] = and ip[44:4] =)

B. (host and host )

C. (proto gre and ((ip[40:4] = and ip[44:4] =)

D. (host and host)

Correct Answer: A

QUESTION 2
A server-side logical in-path deployment is shown in the exhibit. Additionally, SH12 is configured with a fixed-target rule

pointing to SH11. The client behind SH12 will not be able to establish a connection to SERVER1 as a logical loop will
occur when the number of optimized connections in SH11 has reached the maximum system limit.
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10.1.11.0/24 )

Server i
(FTP, HTTP) &

100.254.254.0/24
WAN

Client12

What is the best way to resolve this issue?

A. Use the largest Steelhead appliance model

B. Enter the "in-path loopguard enable" command

C. Use more than one Steelhead appliance

D. Limit the number of TCP connections to be optimized
E. Put SERVERL1 in a different subnet from SH11

Correct Answer: E

QUESTION 3

What command should you use to see the direct URL of a package?
A. show rsp slots

B. show rsp modules

C. show rsp platform

D. show rsp packages

E. show rsp vms
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Correct Answer: A

QUESTION 4

In a serial cluster deployment of Interceptor appliances, which interfaces are connected from one Interceptor appliance
to another Interceptor appliance assuming they are connected back to back?

A.LANO_O to LANO_1
B. WANO_0 to WANO_0
C. WANO_0O to LANO_0
D. LANO_O to LANO_O

Correct Answer: C

QUESTION 5

SH10 and SH11 are connection forwarding neighbors. After a configuration change on SH11, SH10 is in "degraded"
status. What is the possible cause? (Select 2)

A. The optimization services on SH11 are not running.

B. The connection forwarding keepalive cable was disconnected.
C. The optimization services on SH10 are not running.

D. Connection forwarding is disabled on SH11.

Correct Answer: AD

Latest 830-01 Dumps 830-01 Study Guide 830-01 Exam Questions

Latest 830-01 Dumps | 830-01 Study Guide | 830-01 Exam Questions 4/4


https://www.passapply.com/830-01.html
https://www.passapply.com/830-01.html
https://www.passapply.com/830-01.html
http://www.tcpdf.org
https://www.passapply.com/830-01.html
https://www.passapply.com/830-01.html
https://www.passapply.com/830-01.html

